tgx - tg2x=sinx

sinx/cosx-sin2x/cos2x=sinx
[sinx*cos2x-sin2x*cosx]/cosx*cos2x=sinx
sin(x-2x)/cosx*cos2x=sinx
sin(-x)/cosx*cos2x-sinx=0
-sinx/cosx*cos2x-sinx=0
-sinx(1/cosx*cos2x+1)=0

sinx=0
x=Pk
1/cosx*cos2x+1=0

(1+cosx*cos2x)/cosx*cos2x=0
1+cosx*cos2x=0 cosx*cos2x!=0
1+cosx(2cos”2x-1)=0

Z=COSX
1+z(2z*2-1)=0
1-2z73+z=0
2z73-z+1=0
z=-1
2z72-2z+1=0
Kop HeT
cosx=-1
x=P+2Pk
OT1B:Pk

cosx*cos2x!=0

cosx!=0 cos2x!=0

x!=P/2+Pk 2x!=P/2+Pk
x!=P/4+Pk/2
x!=(P-2Pk)/4

2 cnocob
cosx*cos2x=-1

cosx=-5 cos2x=% HEeBO3MOXHO

cosx=1 cos2x=-1
x=2Pk 2x=P+2Pk
x=P/2+Pk

cosx=-1 cos2x=1
x=P+2Pk 2x=2Pk
x=Pk
PeweHue cucrembl x=P + 2Pk

3 cnocob
cosx*cos2x=-1

V2*cos(x+2x)+7/2"cos(x-2x)=-1
cos(3x)+cos(-x)=-2
COS3X+COSX=-2

cos3x=-1 ¥ cosx=-1
3x=P+2Pk x=P+2Pk
x=P/3+2Pk/3

PelwweHnune cucrtembl x= P+2Pk




